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The profits of a company rose 10% from April to May, then dropped 20% from
May to June, then rose 50% from June to July. What was the percentage
iIncrease from April to July?

Udh DUl ] GATHT AU I Hs dPb 10% d¢l, [h Hs I S ddb 20% FRT, fhr 5
3 S[dls dd 50% SaT| U I Sl ab Widrd dia 9T 4i?

15%

45%

32%

13%
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U D&l H, doP| AR dsihdl &l 3Urd 4 : 5 g1 Flc IR U dSd Hal H A
gU, dl ASPhi Bl TAT H 20% DI die I H&l H dsibdl DI T J1d DIy |
In a class, the ratio of boys to girls is 4 : 5. If four new boys joined the class, the
number of boys would increase by 20%. Find the number of girls in the class.

30

35

20

25
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The midpoints of the sides of an equilateral triangle PQR are X, Y and Z if the
perimeter of triangle PQR is 24 cm, then what is the perimeter of triangle XYZ?.

Ush JHETg FAYS PQR & Yolsii & A9 fdg X, Y 9k Z &1 df¢ AYS PQR @1
gAY 24 JH1 g, d FAYS XYZ DT URAY =1 g2

96 cm

36 cm

12 cm

48 cm
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There is a 40% increase in an amount in 4 years at simple interest. What will be
the compound interest on Rs. 6000 after 3 years at the same rate?

IR TS UR U ¢RI 7 4 a8 T 40% &I 9l Bldl o1 6000 3T W JHM &R
I 3 9yl & el Tehdia SATS AT G2

Rs. 1260

Rs. 1986

Rs. 19860

Rs. 7986
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If Anita walks a certain distance at 13 km/hr. instead of 10 km/hr., she would
walk 30 km more. The actual distance travelled by her is :

gfc SfHidr U [Afgrd gt 10 fobdiae & o 13 fhel/ee ot 1fd I 9ddl g, dl 98
30 fardt 3ifeip gt 3D GRI 0 i g dRifdd g1l fbd-l g2

100 km

50 km

60 km

25 km
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Pankaj buys 10 lemons for Rs. 80. At what price should he sell a dozen lemons,
if he wishes to make a profit of 25%"7

Ghol 80 3. H 10 Hﬂq@ﬁwél aﬁa—s’zs%wama{%hqaw dredl ©, dl 34
U Gl -ig @l e T UR d9-1 d1igu?

Rs. 10

Rs. 120

Rs. 100

Rs. 240
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Priya invested a certain amount of money and got back an amount of Rs. 8800
after 3 years. If the rate of simple interest is 40%, what is the principal amount

invested by Priya?

o = web (Aiga fr o1 (Aa=n far ik 3 91 |16 8800 ¥U i AR A194 Ut
1| Al AR TSl DI &R 40% g, dl 1091 GRT [ B T3 Tl A =7 572

Rs. 7333

Rs. 4333

Rs. 4000

Rs. 7000
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A certain sum amounts to Rs. 7200 In 2 years at 20% per annum compound
interest, compounded annually. Find the sum.

U 1A AR 20% Ufday Iehdia <aTs R, diive Jgiieid 8- 9 2 9y H 7200
¥ Bl ST g 1 4RI 1 ifoy |

Rs. 4800

Rs. 6000

Rs. 5400

Rs. 5000
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If the Standard deviation of a distribution is 6, what is the value of its variance?

gfe; Tl fadrur &1 A fddad- 6 ©, dl 3dD ARl BT Ued =T 872

24

36

12
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Rs. 200 was distributed among three persons - Anil, Binay, and Chinmay. Binay
received 50% more than Chinmay. Anil received Rs. 10 more than 150% of what
Binay received. How much money did Anil receive?

200 39 <9 Al - 31fAd, 999 SR 49 & &g fqaikd feu U o) fa9g &
<18 o1 I T 50% 39D e gd | {69 &1 Sl {H7dr S99 150% I 10 39
3P A DI [l | 3 DI fhaar gar [

Rs. 40

Rs. 60

Rs. 43

Rs. 100
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A piece of wire, bent in the shape of a square having 44 cm as its side, is
subsequently bent to form a circle. What will be the radius of the circle?

dR 1 U chol, U ail & 3MHR T TSI g3 forgan! Yol 44 JHI 5, 916 H U I
ST @ o8 AIST A1 g | 99 @I a1 &1 giii?

108 cm

56 cm

14 cm

28 cm
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Manu's piggy bank contains Rs. 221 in the form of 50 paise, Rs. 1 and Rs. 2
coins in the ratio of 4 : 3 : 6. What is the number of 50 paise coins in the piggy
bank?

0 &l Teci H 221 YU, 50 U, 1 ®UU SR 2 YU D [fadb H¥UH4:3:6 P
U H 5| cdd H 50 U o Ridpi B e fdba-il 572

52

13

104

26
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What is the unit digit in [45237632 x 22241632 x 3225163217

[45231632 x 22241632 x 32251632] I THTg 3ih T o2
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If Ram puts Rs. 2000 in a savings account that earns 20% annual interest
compounded half-yearly, how much money will be in the account after one year?

gfe JH 2000 39T UH §9d WId H ST © Sl 20% a1 g1a 3{fold Hdl g ol
afef-giiie =g 9 Idgifoid gidr ©, dI U an & dic @id | fhd-T Udm gR?

Rs. 3530

Rs. 2420

Rs. 2630

Rs. 3870
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A batsman scored 150 runs in a one-day cricket match. He hit 20 fours and 5

sixes. Calculate the percentage of runs he scored by running between the
wickets.

U decidlSl - U [¢adiiy fdhdbe B H 150 39 F4IU | 39 20 b 3R 5 Tdb
U 39D gRI [ddbel & | QIg®R d-1U U AT & UId=Id B ITUMET BT |

25%

73.33%

50.66%

26.67%
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A train running between two stations arrives its destination 10 minutes late when
it travels at 40 km/h and 16 minutes late when it travels at 30 km/h. The distance
between the stations in km is

&l TRl & did I dTell U ¢ 30 Tided IR dd 10 8- @i 31 4 ygddl g o
g 40 faHi/Ee B1 1fd J Fadt T, 3R Sd g 30 fabHi/ee 3T 71fd & et © 79 16
e &t &3 O ugad! o | H & did Dl g3l fodt § |1 5?2

24

12

10

20
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A sum becomes 1.44 times of itself in 2 years when invested at compound
interest (compounded annually). What is the rate of interest per annum?

dchdla IS (ANtd U A JYIFSTd) UR 92 - IR Udh Y=RI1R1 2 I8 § WG Pl
1.44 TAT I ST © | TN <ATS] &R 941 672

21 percent
30 percent

25 percent

20 percent




méamd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

Three bells ring simultaneously at 7 p.m. They ring at regular intervals of 15
minutes, 18 minutes and 20 minutes respectively. The time when all the three
bells will ring together is:

QM 7 99 U 91 i 9fear goidl o | 9 A 15 e, 18 fiFe 3iR 20 fide &
I 3idRTe R 9oidl © | 98 999 1 ©, od di-] 9fedl U 91y doiifl?

10 p.m.

9.30 p.m.

10:30 p.m
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The smallest number of 4 digits which when divided by 6, 8, 12 and 20 leaves a
remainder 5 in each case is :

4 3P| DI dg @IS I DIt 91 o’y 6, 8. 12 3R 20 I f[FUINSId 31 IR Ud®
Rfad 5 9y g9dr o

1285

1200

1085

1080
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Two trains start at the same time from Aligarh and Delhi and proceed towards
each other at the rate of 14 km and 21 Km per hour respectively. When they
meet, it is found that one train has travelled 70 km more than the other. The
distance between two stations is:

Gl XSl Uh ol 9 H 3eilile HR fGocil A = gldl & HIR hHURE: 14 bl 3R
21 Tl Ufd 9¢ &l ax A Uh-giR &l 3R dadl o | Sid d [Hadl o, dl J1d sidl g T
Udh ICTST - SRl A 70 fhHl 3ifed a1 o o &l IR & did bl a3l 1 572

350 km

210 km

300 km

140 km
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